

Rellena paso a paso para resolver la siguiente operación combinada

$$24 : 4 + 12 \cdot 2 - 6 \cdot 4$$

$$\begin{array}{r} \boxed{24 : 4} + 12 \cdot 2 - 6 \cdot 4 \\ \downarrow \\ + \boxed{12 \cdot 2} - 6 \cdot 4 \\ \downarrow \\ + \quad \quad - \boxed{6 \cdot 4} \\ \downarrow \\ \boxed{\quad + \quad} - \quad \\ \downarrow \\ - \quad = \mathbf{6} \end{array}$$

$$15 - 8 + 12 : 4 + 8 \cdot 3 - 52$$

$$\begin{array}{r} 15 - 8 + \boxed{12 : 4} + \boxed{8 \cdot 3} - 52 \\ \downarrow \quad \quad \downarrow \quad \quad \downarrow \\ \boxed{15 - 8} + \boxed{\quad + \quad} - 52 \\ \downarrow \quad \quad \downarrow \\ \boxed{\quad + \quad} - 52 \\ \downarrow \\ - 52 = \mathbf{-18} \end{array}$$

$$6 \cdot (2 - 5 + 1) - 54 : 6$$

$$\begin{array}{r} 6 \cdot (\boxed{2 - 5} + 1) - 54 : 6 \\ \downarrow \\ 6 \cdot (\boxed{\quad + 1}) - 54 : 6 \\ \downarrow \\ \boxed{6 \cdot (\quad)} - 54 : 6 \\ \downarrow \\ - \boxed{54 : 6} \\ \downarrow \\ - \quad = \mathbf{-21} \end{array}$$

$$42 - 2 \cdot (3 \cdot 6 + 20 : 2 - 12)$$

$$\begin{array}{r} 42 - 2 \cdot (\boxed{3 \cdot 6} + \boxed{20 : 2} - 12) \\ \downarrow \quad \quad \downarrow \\ 42 - 2 \cdot (\boxed{\quad + \quad} - 12) \\ \downarrow \\ 42 - \boxed{2 \cdot (\quad)} \\ \downarrow \\ 42 - \quad = \mathbf{10} \end{array}$$

$$14 - 20 : 5 + 10 \cdot (27 : 3 - 48 : 8)$$

$$14 - 20 : 5 + 10 \cdot (27 : 3 - 48 : 8)$$

$$14 - 20 : 5 + 10 \cdot (\quad - \quad)$$

$$14 - 20 : 5 + 10 \cdot (\quad)$$

$$14 - \quad + \quad = 40$$

$$6 - 3 \cdot 2 + 4 \cdot 1 - 5 + 13 - 8 : 4 - 9 \cdot 2 - 3 : -1$$

$$6 - 3 \cdot 2 + 4 \cdot 1 - 5 + 13 - 8 : 4 - 9 \cdot 2 - 3 : -1$$

$$6 - \quad + 4 \cdot 1 - 5 + 13 - 8 : 4 - 9 \cdot 2 - 3 : -1$$

$$6 - \quad + \quad - 5 + 13 - 8 : 4 - 9 \cdot 2 - 3 : -1$$

$$6 - \quad + \quad - 5 + 13 - \quad - 9 \cdot 2 - 3 : -1$$

$$6 - \quad + \quad - 5 + 13 - \quad - \quad - 3 : -1$$

$$6 - \quad + \quad - 5 + 13 - \quad - \quad -$$

$$\quad + \quad + 13 - \quad - \quad -$$

$$\quad + \quad - \quad -$$

$$\quad - \quad -$$

$$= -5$$

$$1 - [-6 \cdot 4 - 4 \cdot (35 : 5 - 3 \cdot 2) - 32 : 8]$$

$$1 - [-6 \cdot 4 - 4 \cdot (35 : 5 - 3 \cdot 2) - 32 : 8]$$

$$1 - [-6 \cdot 4 - 4 \cdot (\quad - \quad) - 32 : 8]$$

$$1 - [-6 \cdot 4 - 4 \cdot \quad - 32 : 8]$$

$$1 - [\quad - 4 \cdot \quad - 32 : 8]$$

$$1 - [\quad - \quad - \quad]$$

$$1 - [\quad - \quad]$$

$$1 - [\quad] = 33$$

$$12 + 2 \cdot [-2 + 5 - 4 \cdot (-1 + 8 : 8) - 10] + 7$$

$$12 + 2 \cdot [-2 + 5 - 4 \cdot (-1 + 8 : 8) - 10] + 7$$

$$12 + 2 \cdot [-2 + 5 - 4 \cdot (-1 + \quad) - 10] + 7$$

$$12 + 2 \cdot [-2 + 5 - 4 \cdot \quad - 10] + 7$$

$$12 + 2 \cdot [-2 + 5 - \quad - 10] + 7$$

$$12 + 2 \cdot [\quad] + 7$$

$$12 + \quad + 7 = 5$$